RRB Secunderabad Junior Engineers Exam
Question Papers (Held on 14-12-2014)

Jyoti 18 Kavita's mother, Par

i, = ] =1 rs'!
: : ; vita are siste
If Arun is Chetna’s son, Chetna and havita

1.
the son of Jyoti, then _ {H’}/’ Parth is mﬂmrnalluu{:ie of ;‘i:rm-l
(A) * Parth and Arun are cousins .. maternal uncle of Kavita
R AE N ; (D) Parth is matCin
(C)  Kavita is Arun’s grandmother
e Find the next number in the series :
-2 L= W
107900! :suﬂf‘:;mf_’_. D) 420
(A) 430 (B) 510 (C) 400 .
‘ . 4 v
_ th 8f the circle
(?D A man is facing North. He starts walking on a circular path, ﬂ{]:ﬂplﬂtﬂﬁ :
and takes a right turn. Which direction is he facing now? é"; :
(A)  East (B)~ West (C) North )) South
TR
@ In a certain code MONKEY is coded as XDJMNL. How ‘-"w'“{; Rkl eodedy
(A) SDFHS B) UJHFS (€) QDFHSW™ (D) SHFDQ
5. Find the number that will replace the —— : &
1,2,30528718 N\ J
A 20 B) 21 D)y 23
(A) : ( l__, (D)
6 How many cubes are there in the
W
Yy
"V X 4
(A) 6 ‘ (B) 8 AD) 10
7. ﬁmegn I-Id kﬂfl South, then 8 km West, then 6 km North, then 8 km East and then
m , How far is Ramesh from the starting point? r -
2 km s ;
(A) | (B) 71 km (C) Okm (D) 8km
| 6
Crime’ is related to ‘Court’ in the same way as ‘Disease’ is related to

(A)  Doctor (B) Hospital (€)  Medicine (D) Punishment

Two tangents are drawn to a circle of 2 2
> ra - %0 e
other. What is the distance between the twd;‘::n. IEEO;::% %‘*ﬂnﬁent& are parallel to each
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| Cell wall | (a) Animal cell

)
-

i
a4
»

(b) Plant cell -
| ATP (a) Mitochondrjs
r-"l1_ll (b) Genes

D@20 B) 1-@). 2 (O -0) 2@ D) 1-0),2-®)
Pﬁﬂﬂ and Dendrites are associated with

_ - cortex (B) epithehum
:.. retina (DL nerve-cells OO

*
ue. that connects muscle to bones in humans 1s callQ

T!E-ﬂdﬂl‘l (B) Fibre : (C) \i‘{@ . (D) Femur

an population of globe is approxim
i) ﬁﬂﬂ mj_n]_un 2L Eﬂﬂ million

‘““’ﬁ hﬂhnn o 6 (D) 7 billion

iy ".'.'

logy is the study relte
n@pmductmn
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23.
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In the circuit given

R R rewwhsakshieducation.com
The formula R= ?1:1— + R, izs- -alle
(B)/ pard

linear connection

] con nection

: sarics connection
(A) Serics {]}}

- - - |?

below, what 18 the curren
G

28

Eﬂi 20

10V s @
75 A
(A) 0.22A (B) 0.55A | (C) 222A @ |

Q‘
A transformer core is made of laminations v O

(A) toincrease the electrical conductivity of the «:«:-rxgmr
(B) to increase the permeability of the core - @

(C) to reduce eddy currents/ Nt
(D) to increase eddy currents and imprzv o cy

Domestic supply of glectricit}' in Im@zﬂ V AC. 220 V refers to the

the voltage.

(A) rmsvalue - C (B) peak value

(C) mean value N\ i (D) minimum value

In a given AC circit“there is.a phase difference of 7/2 between current and voltag
When the cur 1s at its peak voltage is zero, The circuit is

(B)~ inductive
o : (D) can't say

resis

(&)
(€)

An unknown DC vﬁltage is to be measured ; : :
will you select first? ' Whl,ch measuring range in the multimete

(A) 500V (B) 50V ' © 5V : My 05V

The earth conductor provides a path to ground for
(A)  circuit current” : : (B) .~ le
eakage current

(C) over current e
www.sakshieducatig‘rl).lomllligi,1 voltage
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ﬂlﬂmﬂm between twao buildings is 100 m.. A Huru-: yor is standing at a distance of 10 m

}. E _fﬂ}m the taller building on a MﬂW‘{Yﬁﬂ E'?ﬂuﬁ? 'Ppr,ﬁ?-n}mule of elevation measured by him
s : 'Il'.'l.' the taller building is 1.5 times the angle of elevation of the smaller building, what s
|

P, l:he he:ght of smaller hU!h.hn;_"-"
r‘ W 45.3 m (B) 4567 m \

_,{G} 46.22 m (D)  Data insufficient 1 f “
N VoD
A galvanometer is converted to a voltmeter by

{ﬁ}ﬂ" adding a high resistance in series with the galvanometer

{B}f adding a low resistance in parallel with the galvanometer

r {C} ‘increasing the number of windings of galvanometer coil

(B]I 'd-:tt:reasing: the number of windings of the galvanometer coil O

current and voltage of generator Q‘

dynamic loads over cyclic times S O

B fatlgue propagation due to dynamic loads

3 ) J-tﬂrquﬂ and power of an engine 0@,

-EIhfarfemm&ters are used for-measuremernt 0

\) ,-' changes in life cycle processes d diation

3) %ej_‘fe;t of mterference of of one mechanical component, on the whole
‘machine

L: “measurement of very s Qplamm&nts and surface irregularities
(D) Ghemmalfanalysm% unds

e s (B). Civil Enﬁneﬂriﬁﬁ Surveyors
ERh | (D) %ﬁétﬂlﬁfﬂiﬁﬁa



33,

34.

3.

37.

38.

40.

f officer who surve

I}E"':lﬂl t,:..-"[}'E' 0 allﬂ"d
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. : o1
Ashoka in the 13 year of his ::]nrmw::;ﬁﬂ;;] :];Eﬁt.iﬂﬂ- These
g : 3 care
the land, kept land records an (B) Gamahartas
(A) Amatyas s (D} Ch alukyas

()  Rajukas

P
Who built the Jagannatha temple of Puxi: ®) Narsimahavaxmana
~ o 1 s _
(A) . Anantavarmana Chodaganga avarmana
(C) Aadivavarmana (D) Parmeshwax

; ' ointed as
: nt can be

JEAS : T of the parhame R
An individual who is not a member of either house come the member e eithe:

a member of the Council of Ministers, but he has

The term ‘Republic’ used in the preamble of the Cﬂnﬂtil&\
(A) That the head of the state i1s hereditary -

(B) That the head of the state is a constitutiona : @
(C) .~ That the head of the state is an elected represe

(D)  None of the above e

The Hindustan Shipyard Limited iﬁK at
(B) Cochin

(A) Goa Q
(Cy Mumbai 6 (D)~ Visakhapatnam

In India, what is the 1 ; permissible age for employment in a factory?

house in
(A) 3 months (B) ~ 6 months O
(C) one year ' (D) 2 years Q %
* e
leha implies

(A) 14 years, 16 years (C) 18years (D) 21 years
| i -.

Lunar Eclipge rs only on a i

(A) Fi arter day . (B) New moon day

© oon day ~ - . (D) Lastquarter day

Mirages generally occur in ‘ OO S

" (A) mountains . {3} : forests
(C)  deserts ORI 1)) /A

| b - , ."_‘..-1'_.- L
Which state is known for its sandalwood mw‘

Maharashtra ; Y L
- LRk

=
Lm
L
a
ol
i
e




:.'Iﬂ:.-“““"f“mnm of a circle 1s Wﬁaaﬁ? 'ﬁfi”?ﬁ%" e area of the circle will increase by
S (DY, 21%

5% By 10% ©) 20%

the following, which

“‘Wlmdﬂm‘ shaped metal piece 1s converted into a wire. Out of

%

rameter can be assumed to remain the same?

~ volumew (B) ecross-section area E
length (D) diameter

52 plaving

ha
4x3xnd -

! D ,
© = 0 52 x 51 % 50

) 52’ g
o ®

=

| :- r;'tj’-.-that the monitor of the class is both a sp
.-'. 1

| KRR | )" 50

reciprocals is 15_5 o The two numbers are

i a 5 3
3 e ematicians. What 1s thu

'8 class of 40 students, 25 are sports persons and 25 @ s
sréon and a mathematician?

o -‘r AR DR e ~i ke .
lcequation +® + x4 1=0,then — +2 is"
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53.

55.

Jecula
S wh&ﬂ- mo . -
hi re%%w&m' oMy in the series:
nds which @ lecular weight 18 ?“gh : unds

A class of compou
: g when mo

naturally occurring fat

(A) amno aclds

(C) esters
: : and ' r; Wo
i ectively M, m:
If the mass of sun, earth and distance between them 18 ::sl]: i
Spe P : 4 the s
: ] or volution roun

done by the sun's gravity on earth for one re e

G .!L’i J D {I ]'} ---—-—“-_'rh2 by

GMm () :

(A)/ zero (B) 2 _

The choke of a tube light works on the principle of
(B) capacitance O

(A)  bi-metallic

(C) inductance © (D) ionization Q’

In the figure below, what is the acceleration of hnd.x;:ﬁgth:‘*’mass m,, given g 18 the

acceleration due to gravity (assume pulley and surfag@@’i-'e smooth)
52 '@ )
N

S 9

®
0\@

my +m m
2 : m, + m,

Y g (B)

" 5
Which of the fﬂﬂﬂwi@ ments 1s correct?
(A) ~ Speed w i vacuum is 3 x 108 m/s

(B) Spee‘» ht is different for different colours
(C)  Speedof light is different in different media
(D) « AlMof the above? .

(&) reduced using smaller wavelength 'ﬁf'prdhin ligh |
(B)  reduced using larger wavelength of !,:mf:ﬂ:ri'“"ig _Eht
:E; - ::d::ﬂ: HTE high energy probe particle ai:i[i |
n't be reduced as itig% - actelerated by cyclo
5 1t \Desfallizinhegmn; CyClotron
_ fedbizatiot o ¢

TSD001214 |



_ﬁ fuse should be connected in — h J.
P {A} ‘Beries. neuty 4] Www. sakshieducation.com in the _ _ conductor.
(B)- series, live

8(C) parallel, n
€utral (D) parallel, live

et ‘E;Equ;?'m&nt carthing gives protection against
‘L- @ voltage fluctuation (B) overloading
?‘ {G} electric shocks (D) high temperature of conductors
X
2 "ﬂ" generator is rated 2 KW 200 V D.C. It can supply load current of
_?-LQEIA} 4000°'A (B) 100 A (€~ 10 A Oy 4A
|
9 "The term PCB stands for Q
(‘M Polyethylene Card Board (E}"" d~Cu*c:ult Board
f@ Printed Card Board thene Circuit Board

‘ .

oek E‘-?lur bands for 1.5 ohms resistor will be @.
- Fﬂﬁ) Brown, Green, Brown (B) Brown, Green, Golden -

Brown, Golden, Green t (D) Brown, Golden, Golden

e

&equenﬂy tuning elec uit would consist of
an inductor a citor (B) aninductor and a resistor

; two _-induc% (D) two capacitors

a filter circuit that reduces the A.C. component of the output is
(B} ~ inductor

i e
- I
- .l"'ll"#u -
r i
o
L3

....-

r:_-. ‘L-r'

; ﬁ“ or stabilizing the gain ofan amplifier
(f :  positive feedback is used
neg‘atwe feedback is 'IIBEd.r‘"’

o = & -
s " ; Lt J i " B ,'.:.-"'.

(B) no feedback is used
(D) input voltage is varied

P ;;_; e phﬂl‘ﬂﬁ B}’St&m qu‘uﬂfﬁﬁ

ks

;Ku*ﬂapamte mr.c!.‘@hﬁ?!les

5 www salgshleducatlon com
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@ Which of the following stal‘.ementi 1
(A) Microsoft windows s GUI
(B)  Linuxs GUI ¥ Aheb Lo 55

(C) . More than 5000 kI3 data can

Mlion fi
M A1TB flash drive can stor¢ 2 millt B
' 1 appace, whihn an
drawn in & three dlmensmnﬂl sp
o exist or be drav

GG. How many lines can be sand t e
- ' h other:
mutually perpendicular to eac
(A) 2 (B) 7 3
{;-:1} i (D) 5 O
0 ng)ls this object?
4

e ot is given bel
67. A third angle orthographic projection of an object 1s €1 b
- O

(A) ‘Triangle ’\@ (B) Trapezium

(C) Cone Q (D)~ Frustrum of a cone

68. In an engineering dr@k it is written scale 1 em = 100 m. Which ratio does it

correspond to? 6
(A) 1:100 (B) 1:1000 '

HES (0 IS - | (D) 1:1,00,000

In @ne drawing, a ‘sectional view' cut portion is shown by

(A) “diagonal hatching (B) dots
(C) cross marks (D)

red colour

70.  For complete description of a component, a

machine - : , o
how many orthographic projections? dm“'%“ﬂ would require minimum

h

(A) 1 - 3
. (B) 2 LN,
) 8% .
www.sakshieducatlon.corllrllll
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- tﬂ:rakm:i dam has been built on the river
www.sakshieducation. lcom :
Mahanada

A i o
- "r - Cauvery

zgg Krishna

(D) Yamuna

o received the first Nobel prize in Physics in India?
- Dr. C.V. Raman ~ (B) Dr. Hargobind Khurana

Prof. C.N.R. Rao (D) Prof. Narlikar

Y ﬁh: ich of the following books was banned by all Muslim countries and India?

iﬁj The Shame Within . (B) Discovery of India
) (D) Beyond Expanse

. ]
I L §
,_.mn.* s

4 I_@ﬂ)’l" in Indian context, is a
) {ﬁ.j Manag‘ement Development Programme Q

.'

R

j‘ - Monetary Policy \\

:;;?& ,Mlsslle Programme
- J Mm:]mtmg Policy i in Management St.udt%
ho zis th&S&cmtar}' General 0f Um Qna‘?
-: Eav;t& Cameron St&phgn Harper
-‘fung Hnng Wﬂn \@ {B) /' Bun Ki-Moon :

.1.__-1

J . { ".l.

¢ F‘
.

J,-
.I|_

H T

L Ry

.....




The valy, N +0140.11+0.111) is

A, 139 |\ 1211

When a Aumber is divided by 5, it gives ¢
of that number s divided by 57

(A) 9 ® 3

Find the value of 677 - 337 -
W 3200 ® 300/

If two sides of & triangle are
given, how many triang akie—s

A o

>
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As the spee s
peed of charged particle i increases in a cyclotron, {choose True (T) or False (F))

_ :‘:131_ the particle moves to a larger circle
) . th
(b : ere 1s relativistic change in the mass of the particle
(@ requency of the cyclotron has to be adjusted

@A) FFRF (B) T.T,T AC) TR T D) T,T.F

- In a ther : . . :
modynamic s¥stem, a process in which volume remains constant is called

J' #— process,
(A)  isobaric (B) isometric

{C} adiabatic : (D) isentropic O

¢ close to

_f' Gueﬁmenl: of performance of a commercially used refrigerator wm

o f@ same thermal energy (
é}’

._ f;*{c) same temperature~” 0
\e y

Ha -
a

r,.‘ e
iy
h

e A
Eaa e
Tl

)|

.'Ill

(o

| L
-----

L
Y . WWW sakshleaymtlgn com
Tk i J My " " |.\_ -y
1_\.-\. Fa | "'I-‘I"L'l:'.' I..: l..l - z '- z
‘h"; N 1 rl L .:i::_l-.:.:::, --'.'_. .. L.' , .':..i.:-:.—' :a.'al"" ol o
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96.  Consider the circuit below &

i3 |

S
This circuit is called a ®) / Latch |
(A) Half adder {D} PIP{] device
(C)  Bit counter
97. De Morgan's theorem states that ®) {{XY)' DY @;‘:‘-;.
A "X+ ¥Y)Yy=Y X' ' . i ’ ¥ [ 3
R y=Y'+ R _”('ﬁ

=) (XYY =YX | Q

4
I:l: T 1
98.  In Boolean algebra []_““i)m]z < (C) | %"\\ - o -l

o AR it (B) 1

Which of the following is not an [/O L'_l_E"-'i. of t gnput&r?
B) Joy stick

(A)  Kevboard _ _
(© ALU 3 @ (D) ~Printer

100. A bond in a brick work wh@?ﬂm:%gﬂ stretchers are placed in alternate lavers i

called . £
(A) Header bond @& I{B} ~ English bond

(C) Flemish bﬂﬂ% D) '-Hﬁrripg:éhpne'bnnd
r‘:\ ‘l". .
Excess silin::g)i_ﬁ%n?a‘nt
(A)  increases the setting time - L B) decraasss the Bbtting time

(C) eakens the strength of the cement (MY deac. e o
1$ D) 'iﬂ'ﬁfﬁ.‘-ﬂﬂffﬁﬂﬂct the setting time

102.  The outer protective layer of a tree is
(A) cambium layer (B) pitch ©) 1
- (O~ bark
: S (D) sap

103.  Which lime is most suitable for white washing?

(A)  quick lime~- ®) L
(C)  kankar lime ) J EmﬁME
D) shell lime

www.sakshieducation.com
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; -~ What 1s floating point with wwiw:sakshieducation.com”
: ‘: (A)  Itisa software subroutine around which other subroutines are built

) (B) — Itis a representation of real numbers to facilitate computing

() Itis the main algebraic formula of the software

(D) Itis the voltage point given to various operating units of the computer

BRI, iy ST :
05. A system of digital rules for exchange and processing of data between various devices 1s

~ called
Y e () software programme (B) algorithm
RRLE). - protocol ~ (D) information processis ff"}‘
Q<
) 3

A theoretical computer with infinite type and memory, used gis of problems of

mmputatmn 15 called
(A} Tape calculator — _ (B) Babbag @Pﬁﬂﬂ
1

N __(C) Turing machine (D T.he nachine

bets and symbols for computer use.
hich allocates code to almost all the

]nnguages of the world and also to s g‘ririg‘ more than a lakh characters. The

b- iIF‘v

~ new standard is called |
o {3&} ccs { @ (B) Unicode
(O | \ (D) Universal CCS code

# Internet a software is used so that the password 1s not

., ?mﬂﬁpt&d easily. LN
53 Hb’ | (B) Malware

3%) , ‘i.?:rus S (_Dl,-._w Encryption
= +. 1’.-*

-

2
%
%-.e.
5:'
ﬂ@:@
a%‘

TF

3 B e . w ] g ¢ ey kil v

R i 5 WL ,,h' 'n.LL = g '} e : P : r .

! thunr ‘1;‘\‘_“1".“' - - ":-. ; -‘Tﬁ't r :' iy .: . (D ks -. :
£ '-?;I.:,-Tr e -.'i' ":'\9.- e

AT b aksmeduciten .com

o - =
S AR S Al o .l-li'.',,'.II B o
"':r.‘:ﬂ‘_ . —_ s A ‘ - ‘;t-‘r.j:'i-"l‘ '-I':I-l ¥



112.

113.

®

115.

116.

117.

119.

- TSD001214

‘Which month is different .I '

1PC stands for 7 gitd
(A)  International Peam ,;5%*‘ :
(C)  Indian Penal C@i G

] -1‘. I.'.-."."
: -",' ._i

p

Who among the rnllowmu can 4
n financial tranaachﬂﬂﬂ?” $ ..

(A)  Individuals A
(C)  Unincorporated Associ:

: & ,-.-n thﬂ puhhc. as a hyg,,

NEFT and RTGS are tha&i‘aan |
(A)  Money tranﬂfe:r al Wit St

(A) L:u unched H&&w I

(B) Launched gea-a_"'
(C) Launched mcketxfﬁ"’“

(@) Katrina ' Hudhud =~ < I L

smc &s
El'lﬂﬂ.

Africa

How many pairs of lette )
between them in the wo;ﬂ lﬂ‘“

ich has as many let!e”
hshalphabet.'?

D o

(A) Aprll {B'
! I: ! ™ S
(D) November

b




121.

122.

Find the I'l'll.'."{rlf]_ﬂl'l of '}”-'ﬁ‘”m'-'mu ., —

1{,24.2,1:‘;,1" TR P A
- e 13, 24,17, TI: MSakshieducation.com
{A} 15 (R a3 :
AL fEy 17 (1) 14

tan 90° 15 undefined Az 4 ;o -
cd. As & 12 nereased from 89° towards 907, value of tan # tends G,

0 :
(A) (B) +w«/ (o 1 (1M undefined

A man sells his two capre - iz
P :Ei Lwo cars at the same price. In one car he makes a profit of 10%. In other
€ loses 1U% over the cost price. His total gain or loss percent 1s

(A) 1% loss .~ (B) 1% pain

o s
(C) 2% loss (D)) No loss no gain @

. ‘Jﬁ= 3.1623 {le}rﬁx.]. What is the APProx. value of :‘r!:,} C)
10

124,

125.

(4) 0333 (B) 03162,/ (€) 0.3221 QJJ} 0.3437
) 4

A student was asked to multiplv a number by 12. B isfBke he multiplied the number
by 21 and got the answer 63 more than the correct %r. What is the correct answer?

oo () '8 D) 84 -
Consider the following graph :
ﬂ .
E @ (Calorie) heat —>
o ' £ fusion’?
Which portion ents the ‘Latent heat of fusion™
(4) OA (B). AB (C) BC (D) CD
Which of the following does not sublimate?
: (A} ie:e (B),~ Ammonium chloride
(C) Naphthalene (D) Camphor
: 9
Whi following is a heterogeneous mixture:
| ﬂh;f thef » (B) Sugar solution in water
' S
L D) Milk
fC) S www.sakshieducation.com e

29



125,

129

131.

v wiliy o

aportiol
: iﬂnﬂﬂﬂct P 4
www.sakshieducatio%g ot NN
atomized 20 cylinde™

- irol :

In a scooter, in which parl 18 the £ (B = 'putﬂF“
Fu
(A) Carburettoe {D]
()  Inlet port A Wriﬂgﬂ?
- n ]Eﬂf : !
Which alloy steel would be used 10F i i (B) n'ifﬂﬂﬂdlufmahfbdenum
(A) ¢ Nickel-Chrome D) cﬁrﬂm}rfﬂ
i Silicon-Manganese
T re passed ¢hrough the molten e
rogen are P

) ﬂr j‘ll:t
In aluminium casting bubbles of argon

. ~astin
(A)  toimprove surface finish of the casting O

(B} to remove hydrogen gas porosity

{(C) to precipitate the mclusions . Q,

(IM  to mix the alloy elements &

Clearance between the mating p

arts is measili'éd"aa&z-

{A)  Dial gauge
(C)  No-go gauge

(©) 28° (D). —12°

In a milling process, for milling n@
cutter? " \ .
{4 .12° (B) %Q

155:‘ State True (T) or Fa spectively : _
1 ¥ ) ety . :
or I}EttLr% strength, cast mml"?ﬂﬂﬂt'lﬂz:e&tgﬁrged_wer forged component
9. C ' hot i : Sty WV
& ;“Eﬂ E$L Dot iron “‘“mPﬂﬂﬁnt in wate.r Improves its malleability
: (B) F,F QD F. D) F.T
o @lﬁ' Angles and I-section which a = '
¥ arﬂ UEEli . % YT s
mantfactured from blooms using the Procace of n fahﬂca._ Uing a shed structure frame, #*
(A)  casting - %
(C)  swaging (B) .ﬂrawiﬂﬂ'
(D) rolling
135. Output of a welding transfy
rm : .
(A)  high - °% compared with jpg o
ngh voltage high current ~oanput s
(C)  low voltage high ey (B) h-lgh Vo
. m\alvr\l/\tlvv./;akshieducatim}cowﬂw lt&ge low curre nt
TSD001214 ‘-"'-‘.'-*lt_age low curren;
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lI-

E di:muehem1nal decomposition of ':";f& Rm dma rials at high temperatures, in the absence
nmen is ontlaa ieducation.com

";)_t" Pyrolysis (B) Thermoly=is
' fE}ar&meIiz'atinn (D) Catagenesis

’l

'ﬂ- 'l ‘.

[

iy

i,
"

f tlm mam reason fm: depletion of ozone layer in the Earth’s

V ‘LM} {‘4:_: tﬂ’fﬁlhﬂr‘i‘;r :

1 Bl L
TR R l'*.".t. Wy =
AR L ".-,w:qﬁ: oL IR R R A

lr'_, o | LY » e i

o 8

W _-r.\_.

Ill. b

» \"'-:'_"'T LR
ra = TR
LN

..ﬂr " :ﬂ:i:rﬁﬁ‘!

.'-'.:._i.i'i;.::.." R

{ & LN s B o ¥= .
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145.  Brass is an alloy of
o - {A) _~copper and zine )
(C)  copper and aluminium
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